2

Measurement X No. of obs.
BE S DhE, D — hER'T 2.37 8
B* — Dh* D — KOhth~ 4.80 6
B* — Dh*,D — KeK*nT 7.29 7
B* = D*h*, D — hER/T 7.49 16
8 | Bt 5 DK** D — h*nF(atn—) 344 12
g | B - DK*Y,D — hW*R'F(ntn™) 9.90 12
= | B = DK**,D — K3hth~ 3.36 4
2 | B* - DhErta—, D — hER'T 1.36 11
® | B - DFK* 5.94 5
BY — DFK*rtm- 2.75 5
BY — D¥g* 0.00 2
B* — Dh* D — h*hF70 5.91 11
B* - Dh*, D - K*nFntn— 4.20 6
B* 5 Dh*,D » nta—nta— 0.81 3
D — Kortr— 2011 5.39 2
D — Kyrtn~ Run 1 0.76 4
§ D — K%r "7~ Prompt Run 2 1.49 4
g | D— K*r¥ Run 1 1.31 6
g | D— K*nFrto— 3.55 1
é D — hTh™ Ycpr 0.45 1
O | D—=hth- AY Run1 0.17 1
D — K*7F Run 2 2.32 6
D — hth™ AY Run 2 0.46 1
D — K3rTn~ SL Run 2 6.63 4
D — hth™ AAcp 8.48 8
.| D= K*nFr% D — K&ntrin- 0.05 6
& | D= rta atr™ (CLEO) 0.00 1
E|D—ratratr (BES—III) 0.01 1
2| D—hth n° 0.00 2
S | D— K)K=rF WS 0.59 1
T | D— KYK*nT 3.79 3
g | D— K*nF (CLEO) 10.42 5
& | D— K*x¥ (BES —III) 1.02 4
B* - DK** 0.02 1
B® — DK*0 0.01 1
bs 0.00 1
B 0.00 1
Total 107.71 173




